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22|HT R EHEEEREE 1.630 A 29,600 48,248 0 0 0.000 0
i 759,347 692,675 8.780] 371,561
B fiff 1.0 #h[X L) 759,347
EEANE 692,675
ZTRMBEE 66,672

data| (5#)

& mfE 150hazki® 0.65




= REE?
=25 1 A B (i 3= i
HHES 3471 = 55 ZREE|] 3471 |EEaMEEER
Hifa% [(EIHAL RELERE 1-FNo YER D 1.00 ERRE | B RE e E A=
# & [XREME 150hakl F300haXK i _ 12 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1.220 A 65,500 79,910/ 65,500 79,910 1.220] 79,910
1EE-BEE R3FMMTERERLE 1.280] A 65,500 83,840/ 65,500 83,840 0.000 0
2| FEHED RIFZMTEHEEEREE 1.220] A 57,400 70,028 57,400 70,028 1.220] 70,028
3|EMA R EEEREE 2.430] A 51,200 124416] 51,200 124,416 2.430| 124,416
3| FRETA R EHEEEREE 2550 A 51,200 130,560 51,200 130,560 0.000 0
4|3 EfB RIFMTEEEREE 2.860 A 40,600 116,116/ 40,600 116,116 2.860| 116,116
4| EfB RIFMTEHEELEREE 3.830[ A 40,600 155,498 40,600 155,498 0.000 0
ez =] RIEMTEEERLE 2490 A 29,000 72,210, 29,000 72,210 2.490| 72,210
6| FfiiE RIFMTEHEELEREE 2550 A 29,000 73,950 29,000 73,950 0.000 0
21| EB1EXE SHIFEIAFE 1.280] A 18,800 24,064 0 0 1.280] 24,064
22|HT R EHEEEREE 2130 A 29,600 63,048 0 0 0.000 0
i 993,640 906,528 11.500] 486,744
B fiff 1.0 #h[X L) 993,640
EEANE 906,528
ZTRMBEE 87,112
data (f5%) IR EF 150hall_E300haskiE 0.85
5




= REE?
=25 1 A B (i 3= i
3472 | TS 55 ZRES| 3472 |@masnmngEE
BIRAL RERMEVEAEHDOET 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
_ _ e B NEEAHRE B o= [[REesRONES)
% T 1 E [ Efr| B % | B im | = %8 i B& | = %8
FEHER RIFMTEHEEEREE 1.370 A 57,400 78,638| 57,400 78,638 0.000 0
FETA R EHEEEREE 2740 A 51,200 140,288| 51,200 140,288 0.000 0
HEnB RIFZMTEHEEEREE 2740 A 40,600 111,244 40,600 111,244 0.000 0
HEfC R EEEREE 1.870] A 32,800 61,336/ 32,800 61,336 0.000 0
Bifig R EHEEEREE 0.870] A 29,000 25,230| 29,000 25,230 0.000 0
i 416,736 416,736 0.000 0
B fiff 1.0 #h[X L) 416,736
EEANE 416,736
ZTRMBEE 0




= REE?
=25 1 A B (i 3= i
&S 3473 mE 55 Z5EE| 3473 |mEsamemEE
Bl&# |EBIEAL EAEEORTE 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
B & _ _ i B NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1430 A 65,500 93,665| 65,500 93,665 0.000 0
2| FE AT R EHEEEREE 22301 A 57,400 128,002| 57,400 128,002 0.000 0
4| EfB RIFZMTEHEEEREE 3.660[ A 40,600 148,596| 40,600 148,596 0.000 0
ez =] R EEEREE 3.130[ A 29,000 90,770/ 29,000 90,770 0.000 0
22|HT R EHEEEREE 1.700f A 29,600 50,320 0 0 0.000 0
i 511,353 461,033 0.000 0
B fiff 1.0 #h[X L) 511,353
EEANE 461,033
ZTRMBEE 50,320

data| (5#)




= REE?
=25 1 A B (i 3= i
HHES 3474 | = 55 ZHRES| 3474 |EEsnEEE
Bima%s [(EIHAL MEEEETE 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 2.650 A 65,500 173,575 65,500 173,575 0.000 0
2| EEHED R EHEEEREE 43001 A 57,400 246,820| 57,400 246,820 0.000 0
4|3ENB RIFZMTEHEEEREE 4300 A 40,600 174,580 40,600 174,580 0.000 0
ez =] R EEEREE 3.650[ A 29,000 105,850| 29,000 105,850 0.000 0
22|HT R EHEEEREE 4.000] A 29,600 118,400 0 0 0.000 0
i 819,225 700,825 0.000 0
B fiff 1.0 #h[X L) 819,225
EEANE 700,825
ZTDMhIEE 118,400
data| (5#)
5




= REE?
=25 1 A B (i 3= e
HHES 3475 | = 55 ZHRES| 3475 |EEsnEEE
Hifa# [EIHAL EX=NERE 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4|3ENB RIFMTEHEEEREE 1460 A 40,600 59,276] 40,600 59,276 0.000 0
ez =] R EHEEEREE 1.230] A 29,000 35,670/ 29,000 35,670 0.000 0
i 94,946 94,946 0.000 0
B fiff 1.0 #h[X L) 94,946
EEANE 94,946
ZTRMBEE 0
data| (5#)
5




AR 22 {8 31| BE i =%

fREEL
L
HHES 3476 | mE 55 ZHRES| 3476 |EEsnEEE
Hifa%s [EIHAL BE J1-FNo ER > £ 1.00 ERRE | B RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i Z %8
2| E{EHED RIFMTEHEEEREE 0.880[ A 57,400 50,512| 57,400 50,512 0.000 0
4|3 EfB R EHEEEREE 1.060[ A 40,600 43,036] 40,600 43,036 0.000 0
B 93,548 93,548 0
B fiff 1.0 #h[X L) 93,548
EEANE 93,548
ZTDMIRE 0
data| (5#)
5




= REE?
=25 1 A B (i 3= i
HHES 2814 | = 55 ZHRES| 2814 |EEismnEEE
Bl % RitEE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.920] A 57,400 52,808| 57,400 52,808 0.920| 52,808
3|EMA R EHEEEREE 1.710 A 51,200 87,552| 51,200 87,552 1.710| 87,552
4|3ENB RIFZMTEHEEEREE 1.710] A 40,600 69,426 40,600 69,426 1.710] 69,426
5|HiEfiC R EEEREE 1480 A 32,800 48,544| 32,800 48,544 1.480| 48,544
6| FfiiE R EHEEEREE 2.600] A 29,000 75,400 29,000 75,400 2.600| 75,400
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 333,730 333,730 8.420| 333,730
B fiff 1.0 XHY 333,730
EEANE 333,730
ZTRMBEE 0

data (f&Z) BJIl EHIEHEL 10 ERITEOHEESEEL 1.0 LUEMEE1.0hall E2.0naskiE 0.2 ik 2 0.2

5




= REE?
=25 1 A B (i 3= i
&S 2815 | mE 55 Z85EE| 2815 |mEamsEE
Bifa% (EABIERE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.160] A 57,400 66,584| 57,400 66,584 0.000 0
3|EMA R EHEEEREE 1.320 A 51,200 67,584| 51,200 67,584 0.000 0
4|3ENB RIFZMTEHEEEREE 1.320 A 40,600 53,592| 40,600 53,592 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
B 187,760 187,760 0.000 0
B fiff 1.0 KBy 187,760
EEANE 187,760
ZTRMBEE 0
data (52) BJI| ERIZHEL 10 ERIEOHEEEEL 10 BEDOHEEE 00
5




= REE?
=25 1 A B (i 3= i
HHES 2816 | = 55 ZHRES| 2816 |EEimnEEE
B {45 #4 | ERETETE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.440 A 57,400 82,656] 57,400 82,656 0.000 0
3|EMA R EHEEEREE 0.000] A 51,200 0| 51,200 0 0.000 0
4|3ENB RIFZMTEHEEEREE 1.680] A 40,600 68,208| 40,600 68,208 0.000 0
5|HiEfiC R EEEREE 1440 A 32,800 47,232| 32,800 47,232 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 198,096 198,096 0.000 0
B fiff 1.0 XHY 198,096
EEANE 198,096
ZTRMBEE 0

data| (&) BIJIl EFZHEEL 1.0 WEMmTE1.0hall £E20haRiE 02 BEDHEEE 00

5




= REE?
=25 1 A B (i 3= e
FEHES 2821 | TS 55 ZHFES| 2821 |EEAHSEES
Bl % RitEE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.740] A 57,400 42,476] 57,400 42,476 0.740| 42476
3|EMA R EHEEEREE 1.370 A 51,200 70,144| 51,200 70,144 1.370] 70,144
4|3ENB RIFZMTEHEEEREE 1.370] A 40,600 55,622 40,600 55,622 1.370] 55,622
5|HiEfiC R EEEREE 1.180] A 32,800 38,704| 32,800 38,704 1.180| 38,704
6| FfiiE R EHEEEREE 2.080] A 29,000 60,320| 29,000 60,320 2.080| 60,320
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
B 267,266 267,266 6.740] 267,266
B fiff 1.0 KBy 267,266
EEANE 267, 266
ZTDMIRE
datd (%) 2R ZHIEHEL 10 ERILDMEEHY 08 EIEFHIE 1.0hallE2. Ohasﬁ,ﬁﬁ 0.2 Hhii % 0.2
5




= REE?
=25 1 A B (i 3= i
HHES 2822 | = 55 ZHRES| 2822 |mEismnEEE
Bifa% (EABIERE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE - (BEDSEDHED)]
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.700[ A 57,400 40,180/ 57,400 40,180 0.000 0
3|EMA R EHEEEREE 0.790] A 51,200 40,448| 51,200 40,448 0.000 0
4|3ENB RIFZMTEHEEEREE 0.790] A 40,600 32,074| 40,600 32,074 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 112,702 112,702 0.000 0
B 1 1.0 XHY 112,702
EEANE 112,702
ZTRMBE 0

date| (fZ) #RiER BRHRHEL 10 ZERILOHESEHEY 06 BEDHESE 10




= REE?
=25 1 A B (i 3= i
HHES 2823 | = 55 ZHRES| 2823 |mEsnEEE
B {45 #4 | ERETETE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.440 A 57,400 82,656] 57,400 82,656 0.000 0
3|EMA R EHEEEREE 0.000] A 51,200 0| 51,200 0 0.000 0
4|3ENB RIFZMTEHEEEREE 1.680] A 40,600 68,208| 40,600 68,208 0.000 0
5|HiEfiC R EEEREE 1440 A 32,800 47,232| 32,800 47,232 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 198,096 198,096 0.000 0
B fiff 1.0 XHY 198,096
EEANE 198,096
ZTRMBEE 0

data| (&%) #EEAK ILEEFE 1.0nall E2.0haki® 0.2 BEDHEEE 00




= REE?
=25 1 A B (i 3= i
HHES 2828 | = 55 ZHRES| 2828 |mEsmnEEE
B4 | FmREER 1-FNo YER D 1.00 YE R B L = RE ESTETAE J=E-T
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FRETA RIFMTEHEEEREE 1.010] A 51,200 51,712| 51,200 51,712 0.000 0
4|3 EfB R EHEEEREE 1.610 A 40,600 65,366| 40,600 65,366 0.000 0
5|3EMC RIFZMTEHEEEREE 1.400[ A 32,800 45,920| 32,800 45,920 0.000 0
ez =] R EEEREE 2600/ A 29,000 75,400 29,000 75,400 0.000 0
22|HT R EHEEEREE 2.400] A 29,600 71,040 0 0 0.000 0
i 309,438 238,398 0.000 0
B fiff 1.0 XHY 309,438
EEANE 238,398
ZTRMBEE 71,040
data| (&) BIJII. ;2K 1.0haklE2.0hakiil 02 BEDHEESEDH 0.0
5




= REE?
=25 1 A B (i 3= i
HHES 2829 | = 55 ZHRES| 2829 |mEimmnEEE
B4 | #EERERK 1-FNo YER D 1.00 YE R B L = RE ESTETAE J=E-T
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 1.100[ A 51,200 56,320/ 51,200 56,320 0.000 0
4|3 EfB R EHEEEREE 1.700[ A 40,600 69,020/ 40,600 69,020 0.000 0
5|3EMC RIFZMTEHEEEREE 2.650] A 32,800 86,920/ 32,800 86,920 0.000 0
ez =] R EEEREE 2650 A 29,000 76,850, 29,000 76,850 0.000 0
22|HT R EHEEEREE 2.400] A 29,600 71,040 0 0 0.000 0
i 360,150 289,110 0.000 0
B fiff 1.0 XHY 360,150
EEANE 289,110
ZTRMBEE 71,040

datd| (f52) BJI|. #EEAK 1.0hall E2.0hakiE 02 BEDHSENDHA 0.0

5




1 P ; }
2 21 18 Il B i 5= i
e 2830 | me 55 2830 |@RBGNEES
Bi&# | BEHE 1-FNo YER D 1.00 = RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
3% | BN #h T 1 B & | B B m | & %8 & %8 i B& | = %8
5 RIFMTEHEEEREE 1.670 A 32,800 54,776 54,776 0.000 0
6 R ERAEHE 2870 A 29,000 83,230 83,230 0.000 0
B 138,006 138,006 0.000 0
B fiff 1.0 KBy 138,006
EEANE 138,006
ZTRMBEE 0
data| (&) BIJII. ;2K 1.0haklE2.0hakiil 02 BEDHEESEDH 0.0




= mEEE
=25 1 A B (i 3= e
e 2831 | B 55 2831 |EBAMEEE
Hifa % [BE J1-FNo ER > £ 1.00 = AE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | B B m | & %8 & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.760] A 57,400 43,624 43,624 0.000 0
4|3 EfB R ERAEHE 1510 A 40,600 61,306 61,306 0.000 0
B 104,930 104,930 0.000 0
H i 1.0 KLY 104,930
EEANE 104,930
ZTDMIRE 0
data| (&) BIJII. ;2K 1.0haklE2.0hakiil 02 BEDHEESEDH 0.0
5




= REE?
SR KBS gt
HHES 3040 | = 55 ZHRES| 3040 |EEHnEEE
B {45 #4 | ERETETE 1-FNo YER D 1.00 YE R B L X RE ESTETAE J=E-T
B [BEER _ _ f 3 NEEAGE B o= [[REesRONES)
3% | BN #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0150 A 57,400 8,610| 57,400 8,610 0.000 0
3 R EHEEEREE 0.400[ A 51,200 20,480 51,200 20,480 0.000 0
4 RIFZMTEHEEEREE 0.590] A 40,600 23,954| 40,600 23,954 0.000 0
53,044 53,044 0.000 0
B fiff 1.0 FEY 53,044
EEANE 53,044
ZTRMBE 0
data| (B%) AIUA LGEKE  EKE), ERIHL




= REE?
mn 2 112 71l B 3% 5%t
HHES 3041 = 55 ZHREE|] 3041 |EEAMETEER
B4 | IRt R 1-FNo ER > £ 1.00 YE R B L % e E A=
B [BEER _ _ f 3 NEEAGE (BEDS>HLDNED)]
T e o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| FEHED RIFMTEHEEEREE 0.430] A 57,400 24,682] 57,400 24,682 0.430| 24,682
3|EMA R EHEEEREE 0.860] A 51,200 44,032| 51,200 44,032 0.860| 44,032
4|3ENB RIFZMTEHEEEREE 1.290] A 40,600 52,374| 40,600 52,374 1.290] 52,374
5|HiEfiC R EEEREE 0.860] A 32,800 28,208| 32,800 28,208 0.860| 28,208
B 149,296 149,296 3.440] 149,296
B fiff 1.0 43y 149,296
EEANE 149,296
ZTRMBEE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
5




= REE?
SR KBS gt
HHES 3042 | mE 55 ZHRES| 3042 |EEsnEEE
Hifa % (EABIERE 1-FNo ER > £ 1.00 YE R B L X RE e E A=
B [BEER _ _ f 3 NEEAGE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0190 A 57,400 10,906| 57,400 10,906 0.000 0
3|EMA R EHEEEREE 0.560] A 51,200 28,672| 51,200 28,672 0.000 0
4|3ENB RIFZMTEHEEEREE 0.770 A 40,600 31,262 40,600 31,262 0.000 0
5|HiEfiC R EEEREE 0.310] A 32,800 10,168 32,800 10,168 0.000 0
6| FfiiE R EHEEEREE 0.220] A 29,000 6,380 29,000 6,380 0.000 0
B 87,388 87,388 0.000 0
B fiff 1.0 HEHY 87,388
EEANE 87,388
ZTDMIRE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
5




= REE?
=25 1 A B (i 3= i
HHES 3043 | = 55 ZHRES| 3043 |EEHnEEE
B4 74 | i ERERE 1-FNo YER D 1.00 YE R B L X RE ESTETAE J=E-T
B & |REER _ _ e B NEEAHRE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.820[ A 51,200 41,984 51,200 41,984 0.000 0
4|3 EfB R EHEEEREE 1.250] A 40,600 50,750/ 40,600 50,750 0.000 0
5|3EMC RIFZMTEHEEEREE 2120 A 32,800 69,536/ 32,800 69,536 0.000 0
ez =] R EEEREE 2310 A 29,000 66,990[ 29,000 66,990 0.000 0
i 229,260 229,260 0.000 0
B fiff 1.0 FEY 229,260
EEANE 229,260
ZTRMBEE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
5




= REE?
SR KBS gt
HHES 3044 | = 55 ZHRES| 3044 |EEHKEEE
Bi&# | BEHE 1-FNo YER D 1.00 YE R B L X RE ESTETAE J=E-T
B [BEER _ _ f 3 NEEAGE B o= [[REesRONES)
3% | BN #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4 RIFMTEHEEEREE 0.450[ A 40,600 18,270| 40,600 18,270 0.000 0
5 R EHEEEREE 1.150] A 32,800 37,720/ 32,800 37,720 0.000 0
6 RIFZMTEHEEEREE 1.360] A 29,000 39,440| 29,000 39,440 0.000 0
95,430 95,430 0.000 0
B fiff 1.0 HEHY 95,430
EEANE 95,430
ZTRMBEE 0
datal (B%) BIUA LGEKE - EKE), EFETHL




A A R B A i
HHES 3045 | = 55 ZHRES| 3045 |EEHKEEE
Bif&# |BE 1-FNo YER D 1.00 YE R B L X e E A=
B [BEER _ _ f 3 NEEAGE (BEDS>LDNES)
T e o % = | B B @ 28 | H | £ % EE 8
2| E{EHED RIFMTEHEEEREE 0.320 A 57,400 18,368| 57,400 18,368 0.000 0
3|EMA R EHEEEREE 0.400] A 51,200 20,480| 51,200 20,480 0.000 0
4|3ENB RIFZMTEHEEEREE 0.320[ A 40,600 12,992] 40,600 12,992 0.000 0
5|HiEfiC R EEEREE 0.210] A 32,800 6,888] 32,800 6,888 0.000 0
B 58,728 58,728 0.000
B fiff 1.0 HEHY 58,728
EEANE 58,728
ZTRMBEE 0

data| (5#)

AILS LGEKE - EKED, EETHL




= REE?
=25 1 A B (i 3= i
3046 | = 55 ZHES| 3046 |EEHKEEE
ERETERBASERK 31—} No YER D 1.00 YE R B L #% ESTETAE J=E-T
& [BREt X _ _ e B NEEAHRE (BEDS>HLDNED)]
£ o % = | B B @ 28 | H | £ % H# | € %
FEHER RIFMTEHEEEREE 0.290[ A 57,400 16,646| 57,400 16,646 0.000 0
FETA R EHEEEREE 0.710 A 51,200 36,352| 51,200 36,352 0.000 0
HEnB RIFZMTEHEEEREE 1.280] A 40,600 51,968 40,600 51,968 0.000 0
HEfC R EEEREE 1470 A 32,800 48216/ 32,800 48,216 0.000 0
Bifig R EHEEEREE 14700 A 29,000 42,630| 29,000 42,630 0.000 0
i 195,812 195,812 0.000 0
B fiff 1.0 43y 195,812
EEANE 195,812
ZTRMBEE 0

(&%) AIUF LGEKE - EKE), EEILL




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3350 | = 55 ZiES| 3350 |mEimnEEE
HifaH (HEER 1-FNo YER D 1.00 YE R B L = RE e E A=
# 8 ERIER200m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800 40,000 4,800 0.120 4,800
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